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Level : Graduate Date : 27-08-2022
Max-Mark : 150 54 INF DOU [ DGOS ] Duration : 120Minutes

General Intelligence & Reasoning
General Intelligence & Reasoning, Chose Correct option (& faea ) (50x1=50 3id /marks)

1. Which month in the group is different from the group ? /Hﬂﬁﬁﬁ?@ﬂ@e{ﬂ%@ TR ?

A. ppril / 310 B. January / SFTaRY
C. September / RideR D. November / Td&R
2. The second largest continent of the world is / G[-1aT T GERT H&Y d81 HeTgT g

A. south America / GT&TOT S{ART B. Europe /GRIY
C. North America / STI 3MHRPT D. Africa / 3ShIRT

3. Aruna ranks twelfth in a class of forty six, what will be her rank from the last ?
/ Aruna ranks twelfth in a class of forty six, what will be her rank from the last ?

A. 33/83 B. 37/37
C. 35/3 D. 34/34

4. Find the Odd manout. 1, 2, 4, 8, 16, 32, 64, 96 / Find the Odd man out. 1, 2, 4, 8, 16, 32, 64, 96
A. 32/32 B. 4/4
C. 9%/96 D. 64 /64

5. Who was affectionately known as the X Grand Old Man of Indiax ?

/P ER Y HRA & IS 3Micg A & U H ST Il UT?

A. DadabhaiNaoroji/ GTGTHTS RIS B. BalGangadharTilak
[ ATATATTUR Tl clch

C. Gopal Krishna Gokhale D. Mahatma Gandhi / FETHT et
/TTOTe HT TTEet
6. The Headquarters of the UNESCO is at. / 1| o TREATCI ARl
A. New York / gTdh B. Geneva / forar
C. Pparis /U D. Rome /39
7. 888,454,237,128.5,76.25,47.125 / 888,454,237,128.5,76.25,47.125
A. 237/237 B. 454 /454
C. 128.5/128.5 D. 76.25/76.25
8. InwhichState is xSilent Valleyx located 2 / forg RIF & 11 Tt R 82
A. Kerala /h_d B. Taminadu / AfHeTg

C. Arunachal Pradesh / 3TSUMRIT SR D. Assam / 31 9H
9. IfPENis coded as NZO and BARK is coded as CTSL then how can PRANK be coded ?

/ 3R ‘PEN * BT NZO ', BARK' &1 ‘CTSL ‘b =0 H foraT ST 2, dl ‘PRANK * b foraT T bl 27
A. NTSLO /NTSLO B. NSTOL /NSTOL
C. NZTOL /NZTOL D. CSTZN/CSTZN

10. Citizenship ends when the number of consecutive years of stay out?
/TP am ol e AR S18R X6 W ANl JHI 81 Sl 8 2

A. syrs/5dY B. gvrs/o@y

C. 3vrs/39Y% D. 7vrs/7a8

11. pandit Ravi Shankar was related to / GfSd IfQ Xp Aot HaTdd UT




A. Veena /dIoT B. sitar/R@AR

C. Shehnai / XTBATS D. Tabla /dddl
12. 146,74,40,23,19.5,18.75 / 146,74,40,23,19.5,18.75

A. 74/74 B. 19.5/19.5

C. 18.75/18.75 D. 23/23

Print Date : Sat, 27 Aug 2022, 14:48:36



GRL Page 2 of 14

13. 24,28,19,35,10,? / 24,28,19,35,10,7
A. 36/36 B. 26/26
C. 46/46 D. 16/16

14. Honkong :Chinas: Vatican? / G 1T AT A ]

A. France / France B. Mexico / Mexico

C. Canada/Canada D. Rome /Rome
15. AZBY:CXDW:EVFU:? / AZBY:CXDW::EVFU:?

A. GSTH/GSTH B. TGSH /TGSH

C. GHTS/GHTS D. GTSH/GTSH

16. Eisthe sister of B, A is the father of C. B is the son of C. how is A related to E ?
R B TEIR, TR H A AR H g1 A FI Tifa R?
A. Grandfather / QIGT B. Granddaughter /TS
C. Great-grandfather / IR GTal D. father /fOdT

17. Suraj went to see a movie nine days ago. He goes for movies only on Thursday. What day of the week is today ?

/XS T e 1 A e Uga & T T | 98 et o ol T[eaR &1 &) ST § 3111 1 fa e g2

A. Tuesday / HITAAR B. Sunday /XfddR

C. saturday / QAR D. Thursday / T[®dRR
18. Adversary: Enemy::Adversity:? / Adversary: Enemy::Adversity:?

A. Friend / Friend B. Difficulty / Difficulty

C. Love/Love D. Dynamic / Dynamic

19. if A=addtion C= Multiplication, F= substraction, B= devide then tell 3A8B2C4F9

/TfE AT SR AT HRAT S, C HT 31 UM HRAT G, F BT 31 T § 3R B T 3 HFT 7 8 ol 3A8B2C4Fo
A. 18/18 B. 14/14
C. 10/10 D. 8/8

20. If code for MENTAL is LNDFMOSUZBKM, then what is the code for TEST ?
/ 3R 'MENTAL * &1 * LNDFMOSUZBKM * & =0 H foraT SIrdT &, ol ‘TEST * b foraT S gehdi 82

A. SUDFRTSU / SUDFRTSU B. SUDFQRSU /SUDFQRSU

C. UVFGTUUV /UVFGTUUV D. RSCDQRRS /RSCDQRRS
21. DCBA:WXYZ:IJLK:? / DCBA:WXYZ::|JLK:?

A. RQPO/RQPO B. PONM/PONM

C. QPON/QPON D. SRQP/SRQP

22 |f the word XMARRIAGEX is coded as KYPPGYEC then how the word XMAREX would be coded ?
/ 3R ‘MARRIAGE * b1 ‘KYPPGYEC * b =0 & feraT SITdT 8, Y ‘MARE * 5 forRaT o1 HbdT 22

A. PPGY /PPGY B. KYPC/KYPC

C. KYGC/KYGC D. KYPG/KYPG
23. Maharastra : India ::Texas :? / Maharastra : India ::Texas :?

A. Mexico / Mexico B. USA/USA

C. Canada/Canada D. Brazil / Brazil

24. If PEN is coded as NZO and BARK is coded as CTSL then how can PRANK be coded ?

/ 3R 'PEN * &1 'NZO * , BARK' 1 ‘CTSL ‘o U T feRaT ST 2, al ‘PRANK * b fora ST Tehd 27

A. NZTOL /NZTOL B. CSTZN/CSTZN
C. NTSLO/NTSLO D. NSTOL/NSTOL

25. Country without Income -Tax is 7/ AP IS H T8l g 2
A. Kuwait/Fdc B. Singapore / RITTGR

C. Burma /9T D. Nepal /=dTdl
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26. How many states does India have ? / HIRd § fp - X1e4 87
A. 31 B. 21
C. 2 D. 29
27. 24,6,18,9,36,9,24,2 / 24,6,18,9,36,9,24,?
ARNc | 12 B. 8/8
CNE /b D. 24/24
28. Which vitamin is abundant in Citrus fruits? / 1 9T faeTfi @g A B TR AT H G 2
A. Vitamin D/ fdeT® = D B. vitamin B/ fdeTi# 8
C. vitamin ¢ /faer®= ¢ D. vitamin A/ fdeTfl A

29. if KICK is written as KCIK and MAAN is written as NAAM so how GOOD will be written

1 T KICK BT KCIK TIaT SITdT & MAAN T NAAM TG SITAT 8 @Y GooD o &Rt feraT \ITaeT 2

A. DOGO /DOGO B. DOOG /DOOG
C. ODOG /0ODOG D. DOO/DOO
30. True/False/uncertain / Tl/3T/gTH
A. Raspberries cost more than B. Blueberries cost more than
strawberries and blueberries. strawberries.
/SR B} P Tt 3R SIS} T B 31ferep T |
I D §

C. Blueberries cost less than raspberries. D. Ifthe first two statements are true, the

| SIS} BT BT IS A HH third statement is

3 /afe Ugdl QT M Wel 8, ol
IR RERIEN
31. 2,10,30,68,? /2,10,30,68,?
A. 102/102 B. 101/101
C. 130/130 D. 104 /104

32. 3,128,6,64,9,7,12,16,15,8 / 3,128,6,64,9,7,12,16,15,8

A. 12/12 B. 72/72
C. 32/32 D. 108/108
33. Gateway of India is in 7/Ted 3P Sfsa AR
A. Mumbai /4S8 B. Chennai /%
C. Bangalore / STTAIR D. New Delhi /778 faait
34. 3.5,7,10.5,14,2/3.5,7,10.5,14,?
A. 18.5/18.5 B. 15.5/15.5
C. 16.5/16.5 D. 17.5/17.5
35. The form ‘ITR-1X is a form for using?/&léélx’rﬂ?-1 THTH %WWWW%?
A. Income Tax Retun / 3T R e B. Income Tax Challan / 3TI®R T
C. VAT/dC D. Excise Duty / 3dTg e

36. ifinsecrect language KANPUR is written NDQSXU and ALLAHABAD as DOODDEDG so will LUCKNOW will be written

/T foreft e HTST T KANPUR @Y NDQSXU fTRaT STTAT § 37 ALLAHABAD ST DOODDEDG &, i LUCKNOW @I

7 fora?
A. OWENQRY / OWENQRY B. OXFNQR /OXFNQR
C. OYFNRSZ/QYFNRSZ D. OXFMQRY / OXFMQRY

37. The National Animal of India is / Wﬁﬂ@ﬂqﬂ%
A. Tiger /ISR B. Lion/BR
C. Cow /T D. Elephant /8T



NOCANIYSEYL

Ras)
willgu |

T4834INFDOU

Print Date : Sat, 27 Aug 2022, 14:48:36
14ESUNFDOV 1SES4INFROU LAESUNTTOU

14883 INVDOU

14454INFOOU

1ARS4INT DO

NOGINIFSar)



GRL Page 4 of 14
54 INF DOU [ DGOS ] SET-A

38. Who wrote the famous book X Letters from a Father to Daughter X ?

/ fpT= uRig Uz 9t & ol U fUrdr 4 v » fera U

A Dr.uRajer]dra Prasad B. Radha Krishnan / XTT T
/SIS U4TG
C. Mahatama Gandhi / AGTET Tieh D. Pandit Jawahar Lal Nehru

| UfEd SaTeR dTd A8

39 If the word XMARRIAGEX is coded as KYPPGYEC then how the word XMAREX would be coded ?
/ 3R ‘MARRIAGE * &1 ‘KYPPGYEC * b =0 & feRaT SITdT 8, ) ‘MARE * 5 foRaT o1 b dT 22

A. KYGC/KYGC B. KYPG/KYPG
C. PPGY/PPGY D. KYPC/KYPC
40. The smallest Union Territory is 2 / T BYeT T8 TTRIT USRI 82
A. Meghalaya /HETTY B. Pondicherry / SIIER
C. Andaman & Nicobar Islands D. Lakshadweep / T&fgId
/ 3T 3R AP IER giu T4g
41. The National Game of India is / WWT@H@E%
A. Kabaddi /Hag! B. Kho-Kho / -1
C. Cricket / fshdre D. Hockey / BIdb!
42. What is found necessarily in Newspaper ? / What is found necessarily in Newspaper ?
A. Editor/ HUTGh B. Date /ARG
C. News/JHR D. Advertisement / fasma=

43. Nsonof ML daughterof A, E is aunt of D and H son of E then H realtion with N is3
INGAEMT, L G AP, EGIATE D DT AR H A G EPI, Al HRIT AN BT 2
A. borther / HTS B. uncle /=TT
C. matemal uncle / HTHT D. nephew / HT=STT

44. Suraj went to see a movie nine days ago. He goes for movies only on Thursday. What day of the week is today ?

/meﬁﬂﬁ?%ﬁé@ﬁww I b e & foTU TSR &1 § ST 8 Sl &b feA /2

A. Thursday / TT2dR B. Tuesday / HITIAR
C. saturday /AR D. sSunday /3fdaR
45. 0,3,8,15,24,7,48/0,3,8,15,24,7 48
A. 29/29 B. 35/35
C. #1/41 D. 37/37

46. 7,25,61,121,7/7,25,61,121,?
A. 211 /211 B. 212/212
C. 210/210 D. 209 /209

47. 0,7,26,63,7/0,7,26,63,7
A. 124/124 B. 123/123
C. 187/187 D. 9/9

48. True/False/uncertain / T/ ST A/GeTH T



. Darren saw more movies than Josh. B. During the past year, Josh saw more

1S3 A SR Qe fobed 3f movies than Stephen.
| /TUB TP A1 & &R, ST

K &1 Ja-T o 31feeh fthed
=25l

. Ifthe first two statements are true, the D. Stephen saw fewer movies than Darren.
third etatamant ic a0 fin Vlin \o. VU o -
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49 If code for MENTAL is LNDFMOSUZBKM, then what is the code for TEST ?

/ 3R 'MENTAL * &1 * LNDFMOSUZBKM * & =0 H foraT SITdT 8, ol ‘TEST * b foraT S gehdi 82
A. UVFGTUUV / UVFGTUUV B. SUDFRTSU /SUDFRTSU
C. SUDFQRSU / SUDFQRSU D. RSCDQRRS / RSCDQRRS

50. If March 16 of 2005 is Thursday then what was the day on February 24 of same year ?
/TS 2005 BT 16 T TTEAR & l ST AY 24 AR 1 T & T2
A. sunday /IfdaR B. wednesday / §HUdR
C. Friday / pdR D. Monday / GIHAR
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Numeric Aptitude
Numerical Aptitude, Chose Correct option (wt fa@ea Ti) (25%1=25 3ias /marks)

51. (750 DT 64%) 4 = 7 5/ (750 P 64%) 4 =75
A. 24/24 B. 48/48
C. 8 D. %2/92

52. 5678 + 3569 + 918 = 3333.. /5678 + 3569 + 918 = .....veven. ..
A. 10255/10255 B. 10135/10135
C. 10165 /10165 D. 101451 /101451

53. what will be cumulative interest of Rs 6000 @10% for 1 year 6 months
/% 6000 T 10% AT G T 1 1/2 Y BT Ahgfe AT febaT & STalfch SISl AT &9 H AT g1
A. 870/870 B. 900/900
C. 910/910 D. 930/930

54. 8080° 16+ 16="? /8080 16 + 16 =?
A. 552.5/552.5 B. 71/71
C. 568.5/568.5 D. 521 /521

55. If xax denotes X¥x, Xbx denote X+X, Xcx denotes X-x, Xdx denotes xxX, then 24a6d4bacs= ?
1S ‘a T 3 ?f%“ b FR=TUT '+, ‘¢’ denotes ', ‘" denotes x', T 24a604bacs =
A. 17 /17 B. 2/2
C. 34/34 D. 19/19

56. (980 of 12%)-(450 0f 2%)= 2270f 30% / (980 T 12%)-(450 T 2%)= 227 T 30%
A. 13/13 B. 10/10
C. 9/9 D. 11/11

57. If T denotes +, E denotes -, N denotes *, & R denotes/, then the value of 10N2T7R3E7 will be
/ ’Cﬂ? T denotes +, E denotes -, N denotes *, 3%? R denotes /, ?‘ﬁ 10N2T7R3E7 T HIH él‘ I

A. 4/4 B. 5/5
C. 2/2 D. 3/3
58. The price of 1 kg cashewnut and almond is Rs. 600. If the price rate of cashewnut is double than the almond. Then what is the
price of cashewnut ?
/1 fPal PSR T BT BIAT T | 600. T[S BT DI BT 1 &R TTGTH J SR & TR BBl HIAd
|2
A. Rs. 250 /U 250 B. Rs. 200/ 200
C. Rs. 400 /%1 400 D. Rs.300/%1300
59. what was day on 08 Nov 2007 /8 TI¥SR 2018 Pl TITE BT HIT T YT 2
A. thrursday B. firday
C. Sunday D. Tuesday

60. Kanesh ranks 18th from the top in a class of 38. What is his rank from the bottom ?

/38 B BHTH PR MITY 15 RM IR S| 0 T IYBTIh HT 87

A »/2d B. 21st/21dl

C. 19th/19 D. 20th /20 df
61. 45%0f?2=72.25/2 DI 45% = 72.25

A. 170/170 B. 165/ 165

C. 175/175 D. 160 /160

62. 12348=0/12348=0
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63. Choose the mathematical symbols which are required to complete this equations : 503 5 = 20
/3 GHIDHRUI ol IRT HRA o [T TR eh MO Uelleh! bl g: 503 5= 20

A. X+X/X+X B. -+Xx/-+x

C. XXX/XXX D. +-x/+-X

64. The price of 1 kg cashewnut and almond is Rs. 600. If the price rate of cashewnut is double than the almond. Then what is the

price of cashewnut ?
/1 T el BT 3R TG Bt BT T | 600. TS BT B HIAA D1 &R TG A GR[AT & TR B & DA
FATR?

A. 400/400 B. 200/200

C. 250/250 D. 300/300

65. If Atul finds that he is twelfth from the right in a line of boys and fourth from the left, how many boys should be added to the line
such that there are 28 boys in the line ?

/ 3R I P! Ul ITdl § foh a8 TS| D1 Toh Ufad A &8 W 12th 3R T 4th RIF &, Al fba as !
DI TS H SIST ST AR, S fob Y@ H 28 TSP 87

A. 20/20 B. 14/14
C. 13/13 D. 12/12

66. Sheela walks from A to B which is 2 km away, turns right at 90 degree and walks for 3 km to point C, turns right at 90 degree and
walks to D which is 8 km away, turns 90 degree right and goes 3 km to point K. then, once again she tumns right, 90 degree and
walks 4 km to point F. How faris it from Ato F ?

/T A Y B D T & off 2 fobtt QR &, Fh 00 F&TR R right turn BY STl § 3R 3 foet ¢ & fomw It @,
ﬁv_wo%"}ﬁq?right tum ﬁﬁﬁ%ﬁ?sﬁ@?ﬂﬁ?ﬁ%,ﬁﬂgo%ﬁright turn@ﬁﬁ%ﬁ?sﬁv_ﬁﬁﬁ@m

iR, T IR TR a8, 90 f&7]
A. gkm /st B. gkm /6 fopH
C. 2km/2 et D. 4km /4t
67. Which of the following number is not a prime number 2 / FIRTRTTRE TReAT & & I 1 Uh T TS gl 572
A. 33/33 B. 29/29
C. 19/19 D. 23/23

68. Kanesh ranks 18th from the top in a class of 38. What is his rank from the bottom ?
/33 BT H AT T Y 15T MW | - T SUPBT b T 7?2
A. 29 /2ond B. 19/ 19th
C. 20T/ 20th D. o1 df/21st

69. Anitemis marked for Rs. 240 for sale. If two successive discounts of 10 % and 5 % are allowed on the marked price, the selling
price of the articles will be

/T 3 T | 240% ferd RIRFA R, TS 10% 3R 5% B} AR &) FETp1de o) FRifgd iwd W ergAfa

STt 3, o ot b farept g gl
A. 205.2/205.2 B. 34.8/34.8
C. 36/36 D. 204 /204

70. 12348=0/12348=0
A. 9/9 B. 5/5
C. 8/8 D. 4/4

71. whatis the probability of getting more than 5 when dice is trown
/U UT 1 Thh UR 5 AT TS AT R 1 UG AT | 2

A. 1.25/1.25 B 3.7 /8%

Conel® (4.2 D. 25/25
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72. Adriver left his village and drove North for 20 kms, after which he stopped for breakfast. Then he tumned left and drove another

7%

74.

30 kms, when he stopped for lunch. After some rest, he again turned left and drove 20 km before stopping for evening tea. Once
more he turned left and drove 30 kms to reach the town where he had supper. After evening tea in which direction did he drive ?

/T GTZAR - 37U T11d DI IS e 3R IR H 20 Tt gR T 7T, TR left tumn kiya 3R 20 fopeit gr arem
T & R & TG, T8 TR left tum kiya 3TR 2TH &1 21 3 foTd 20 forett =re T4 | we for e & =ram
T

A. DAKSHIN / South B. OfYT/ west
C. JTR/North D. 4 /East
graduate

/ A driver left his village and drove North for 20 kms, after which he stopped for breakfast. Then he turned left and drove another
30 kms, when he stopped for lunch. After some rest, he again turned left and drove 20 km before stopping for evening tea. Once
more he turned left and drove 30 kms to reach the town where he had supper. After evening tea in which direction did he drive ?

A. UIEH/East B. T4/ North
C. TG SERANATMABIBIE  D. IR/ South
f&am SR IR H 20 fordlt R @am
T, TR left tum kiya@?so%ﬁﬁ
R IA T S R & 9lg,
g8 TR left tum kiya SR A Y
1 & foTd 20 fob il Tct T | TH
Wﬁﬁﬂ%’ﬂﬁ@?leﬂturn%
qTezo fhatier QR aa Y|
QMY &1 91 o d1G g by
fer=m & =ra T

/ West

graduate
/ Rama starts from his house and goes 5 km towards west then he turns to right and goes 3 km. then he turns to left and goes 2
km. Then he turns left and goes 3 km. At the end he turned right and goes 3 km. Now in which direction he is from his house

A. TigH /north B. Gf&T/ east
C. I AR ILE ST 3R5  D. IR/ south

fortfi ufym ot SR a8 A a8

S ST § 3R 3 foprt R <ma

g1 a8 1S SR g8 3R 2

fo et R WTell g bR a5 o1 3R

Y18 3R 3 foprlt gr = |

3id T 98 Right TSaT 831X 3

fop il g <l 7T | 379 9 31U

WA fRMAR

/ West

75. unit place of (2153)167 be / UTTW T (2153)167 BT SHIS DI 3 FT BRI

A. 9/9 B. 3/3
N7 D. 1/1
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General Awareness

General Awareness, Chose Correct option (¥ farasea g+i) (25X1=25 3ids /marks)

76.

T

78.

7.

80.

81.

82.

83.

84.

85.

86.

87.

Which country won the Cricket World Cup 2015 ? /T ST+ fehdhe fa% Y 2015 STTATUT?

A. New Zealand /?I:ﬂa?; B. Germany / STHHT
C. West Indies / %€ So 1ol D. Australia / 3R erdT
Who gave the slogan Chalo Dilli / faeet <l &1 TR foper=! feam T
A. DV Patil / DV Patil B. P Sharma /P Sharma
C. Dgosh /D Gosh D. sCBose /GHTY =% S
The ratio of width of our national flag to its length is. /WW@H &S Bl t?lsl?gﬁ S{UId s%icnnl c’idl'-:fah %
A. 2:04/2:04 B. 3:04/3:04
C. 2:03/2:03 D. 3:05/3:05

Thirty Second Olympics in 2016 was held at / 2016 T 329 3l Pl U o kiye jayenge

A. Beijing (China) /aﬂ%—i'r[ (Eﬂ:[) B. Rio de Janeiro (Brazil)
I RAISIeRET (sTeite)
C. Sydeny (AueraIia) D. Tokyo (Japan) / CIeRIT (SITAT
/RS (sifeeferam)
The first Indian to swim across English Channel was : / 3l Wﬁaﬁﬂl@fq@ﬁ YR U:
A. PK Banerji / Hids ST B. MinirSen / fBfg<a=
C. v Merchant/dt e D. AartiSaha / SRAIETET
Telephone was invented by : / At &1 TTAHR fodT UT:
A. Baird /RS B. Alexander Graham Bell
/ 3RIRoISR ATGH o
C. Newton /=Jc- D. Stevenson / =g
Which day is celebrated as xWorld Health Dayx 2 / 1T & fay Tarea feaw & =0 H AT 91T 82
A. 21-ppr /21 30 B. 20-Apr/22 30
C. 1a-Apr/ 18 3 D. 7-apr /7 30
When was ISRO set up ? / TR B} RITAAT $d gs A2
A. 1965/ 1965 B. 1971 /1971
C. 1969 /1969 D. 1976 /1976

National flower of India is / HIRd T Q‘I@“C[Ug_ﬂ g

A. Ly /fereft B. Marigold / HRITICS

C. Rose /IS D. Lotus /dlcd
who is conserver of constituion of india / HTRd 1 TTALT T TRETT Hﬁ?%l

A. President / President B. Doctor / Doctor

C. Judge / Judge D. Supreme Court / S=IdH <ITATeIY |
Which of the following is not a missile /sqﬁ@raﬁwﬁmsaqé‘f%:

A. Akash / TR B. Pprithavi / Gl

C. Nagraj / TRRTS D. Trishul / PRI
which religion was adopted by King Ashoka / 32N A o 4w T 3o feram T

A. Hindu /Hindu B. Sikh/Sikh

C. Boudh /g &H D. Muslim / Muslim



88. when did simon commision came to india / TTSHA HHIXH He HRd AT
A. 192871928 B. 1919/1919
C. 1922/1922 D. 1932/1932
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89. The deepest lake in the world is / Gf1aT &1 Tad T8 3t &2
A. Caspian Sea / HRUTT IR B. sambar Lake / THER I
C. Lake Superior/%ﬂﬁm D. Lake Baikal / 3fididhdl
90. Kautilya wrote / hifeed 3 likni B 1
A. MudraRakshasa / GERTST! B. Prabandha Kosa / UHTHR
C. Arthashastra / 312 D. Nitisara /fdrar
91. Who was known as the Frontier Gandhi 2 / 1 ST TR TTieft & ATH ST ST T2
A. Sharif Ali / TRT® 3l B. Khan Abdul Ghaffar Khan
1T 3og el TP M
C. Ahmed Khan / 3/8HG @ D. Sayed Khan /T8¢ @
92. Whichs smallest state of india / HTRd T Ta BIeT Iod B AT 5|
A. Maharastra / Maharastra B. orissa /orissa
C. Goa/Tdl D. Panji/Panji

93. Who gave the slogan XGive me Blood! | promise you FreedomX

/fpaa ART fean g2 Yad & 31! Wad=IdT &1 aTal dRal g

A. NetajiSubhash Chandra Bose B. Jinnah / TomaT
/TSl GHTY I &I
C. Bhagat Singh / H7Td i D. |gbal / ShETA

94. Who discovered America 2 / 3BT B forg= Wil 2
A. Vasco-da-Gama / AR I-GI-TTTHT B. Captain Cook / I b

C. Columbus / PIcied D. Amundsen / ST

95.  Which one of the following is the capital of Manipur 2 / FERTRIT & T I AR &1 ITemit |2
A. shillong / FRIeTiT B. Imphal / STTd
C. Kohima /ifgdT D. Guwahati / TJAT8IC]

96. when was National women commsion was billed

JRTSTY AT SN SHfFTH fobd I8 e gRT TR foba |

A. 1960 /1960 B. 1986 /1986
C. 1990/1990 D. 2000/2000

97. Which place is called as xSilicon Valleyx of India ? / HRA Bt AT e Wi%?
A. Hyderabad / §ERTSTG B. Bengaluru / STTeR
C. pune /Ol D. pethi/feeait

98. Which among the following is Indiaxs il refinery ? / FETRIRIT T T P11 HRA T dARBISRI 87
A. Guwahati Refinery B. Barauni Refinery / SRt RUBTSRY

/!!alslél litfils:lil
C. Digboi Refinery / f&TTals RpIgRT  D. Vishakhapatnam Refinery
/fa=mramg T RergRt

99. Indian State with the largest population is / F& FTa! ST T HRTT Iod 87
A. Maharashtra / HEIRTY B. West Bengal / Tf&HETICT
C. Assam/3H D. Uttar Pradesh / STRUGRT

100. The National Cadet Corps is a part of / ﬂ'@ﬂ%‘c’ﬁ? P TS fgEaTR?

A. Tri Senvice Command / FAEGThH  B. Ministry of Youth Affairs
/gaT ATl o AT

C. Home Ministry / TeHATTT D. Ministry of Defence / I&THATAT
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English Language & Comprehension

English Language & Comprehension, Chose Correct option (&} fasea ) (50x1=50 37d5 /marks)

101. improve sentence- The train left before | reached the station

102.

103.

104.

105.

106.

107.

108.

109.

110.

11y

.yl 95

] I'3%

114.

115.

A. hadleft B. willleave
C. Noimprovement D. leaves
Antonym of Ajar
A. Peek B. Slide
C. Closed D. Open
Different Pair
A. Water and Bucket B. PenandNib
C. Oiland Lamp D. Ink and Inkpot
Horse : Gallop : : Duck : ??
A. Waddle B. Trot
C. Prowl D. Swim
JJ spent his childhood Anand Bhawan
A. at/at B. on/on
C. in/in D. across / across
| have eaten nothing P.M.
A. since B. none of these
C. for D. from
Choose the correct synonyms - There is always a bard in every village to whom people go for entertainment.
A. Dancer B. Actor
C. Joker D. Poet
___dogs do not bite / ___dogs do not bite
A. bark /bark B. barking / barking
C. isbark/is bark D. tobark /to bark
Different Pair
A. Criminals and Prison B. Student and Teacher
C. Bird and Nest D. Patient and Hospital
Different Pair
A. Book : Author B. Waiter : Restaurant
C. Doctor : Diagnosis D. Driver : Truck
Complete sentence - The doctor gave the woman a Calm her down.
A. Tonic for B. Antiseptic to
C. Sedative to D. Antidote to
If Sugar cane is to sugar then curd is to
A. Qhee B. butter
C. cheese D. milk
If bird is to fly then fish is to
A. walk B. fly
C. bath D. swim
if wax is to candle then oil is to
A. bub B. light
C. tube D. lamp
To save ones face
A. Tooppose B. To avoid disgrace
C. To hide oneself D. To say plainly

Page 11 of 14
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116.

1198

118.

119.

120.

121.

122.

128

124.

25,

126.

LA

128.

12258

130.

K

| could hardly recognise him i was him.
A. when B. and
C. but D. after
If bus is to driver then aeroplane is to
A. swim B. steer
C. pilot D. salil
Do not stand the rail ; the paintis ____ wet.
A. at, very B. On, yet
C. Onto, not D. Against, still
correct article - | realized that there were quite few differences between me and my friend.
A. no article needed B. the
C. an D. a
We must The tickets for the movie in advance.
A. Remove B. Buy
C. Take D. Draw
As any was familiar with the road to Neeraj house, he lead the way
A. ledthe way B. lead ways
C. ledaway D. leading ways
phrase from the given alternatives She could not help but laugh
A. laughing B. laugh
C. noimprovement D. butlaughing
chose Correct Word
A. Aggressive / Aggressive B. Aggresive / Aggresive
C. Agressive / Agressive D. Agrressive / Agrressive
Mr Raju has been in this college 2010.
A. since B. after
C. for D. before
correct synonyms- The sailors bailed out the water frantically to save the ship
A. Threw B. Drank
C. Pumped D. Dried
Correct Article- | need milk for the recipe, but we are out.
A. the B. a
C. no article needed D. an
correct synonyms- The bride looked stunning as she walked down the aisle.
A. Road B. Island
C. Passage D. Isle
Since 2000, there is no earthquakes here.
A. have been B. Noimprovement
C. are D. Wwere being
Preposition- The four brothers always quarreled themselves.
A. for B. between
C. to D. among
If Book is to paper then cloth is to
A. nylon B. thread
C. sik D. velvet

My grandfather will come hwere __ a week / My grandfather will come hwere ___ a week

A. before / before B. within / within
C. at/at D. with / with

Page 12 of 14
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132. Itis high time that he himself
A. Had reformed B. Hastoreform
C. Reformed D. Will reform
133. Fillinthe blanks - He has a car a scooter.
A. and B. besides
C. with D. beside
134. Itwould rather that she me tomorrow.
A. Sees B. Wil see
C. Cansee D. Might see
135. Fillin the blanks - There is no meaning .. What you say.
A. by B. for
C. in D. of
136. If tomorrow is Monday then yesterday is to )
A. Sunday B. Wednesday
C. Saturday D. Friday
137. Preposition - He was charged murder in the court.
A. with B. for
C. on D. of
138. Abandon
A. Quit B. Forsave
C. Roost D. Forefeet
139. Choose the word which is most similar in the meaning to the word - Gullible
A. Credulous B. Credible
C. Fallible D. Believable
140. Beauty liesin the of the beholder
A. eyes B. heart
C. ear D. soul
141. Jealous
A. Envious B. Atrocious
C. Ferocious D. Obvious
142. Correct Proverbs/idioms When in Rome, do as the
A. Saying B. Europeans
C. People D. Romans
143. Choose Correct Spelling
A. Possesion B. Posession
C. Possession D. Posesion
144. Choose Correct Spelling
A. Grivence B. Greievance
C. Grievance D. Grievance
145. If student is to teacher then patient is to 33
A. operation B. examination
C. doctor D. Hospital
146. Correct Proverbs/idioms - A stitch in time 333.
A. hever mine B. savesnine
C. always mine D. alwaysnine
147. speak louder than words.
A. Humility B. Truth

C. Money D. Actions
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148. Choose Correct Spelling
A. Tarif
C. Tariff

149. Choose Correct Spelling
A. Sattellite
C. Sattelite

150. Choose Correct Spelling
A. Boquet
C. Bouquete

. Tarriff
. Tarrif

. Satelite
. Satellite

. Bouquette
. Bouquet
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